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1. gmsa!ejma gfiq Ande ()| 98 6xl8d
AR 69RYS! Gl @R, Fell &gl &g
6QIR 6A6T16T ANGER YAIGE §9,6068
GIFQ giga fIac 62T |

(39612110, TLER Y LAGY IR/ F1R QM IS
oaq gIal 994 Q6a @RI/ F1R FARIG 624 |
oIrde ofl ealdIRdER SIRIA JRISR 62€ AT

gac 89l 2rje gag agd / Urde aal/ @1R
cQITIREER G121Q F1 RIS 629RIZ |

Qo 91R QAIAIRS! QB X’ 9291 /R01a%

@3/ Rl 96 AGIR/QEA /698 T8I AR
@ G 696 RAAEQ KGR QARIRIYER

QILIQ RIIAR 62Q @I¥ |

5. 9@ ggae gaeity Aewd aaIasl geg eslinde
oF | Bea 6aIn A98 O] A6 17 93w
qe° (219, TE6Q 6AYS! AIaR |

6. ¥¢ gdmiea @ge I G gaaeti e
6dgeaa §A@ A @ QIe6q QI @R |
g6 @8 gF a1 696 98 figq arie Nl

aqoca 20y 9@ OR gaal FaIEaaOlg
Lge @Qg | JIE daq aeqe@lad 2198

geq aaife Q1 |
7. 654l 9QIAl ARSI 2R, € ¢rr agasa

gaigl afeies @alkdS |

1. Theadmissiontothe

2

o+

(4]
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. The examination shall be conducted as perth
e

examination is provisional.
formation furnished by the
/ incorrect / incomplete
he candidature shall

In the event of any in
candidate found false
detected at any stage, t
be rejected.

. Darkenthecirc
with Black / Biue ball point p
darkening shall not be evaluated.

les inthe OMR sheet completely
en only. Partial

. Darkening two or more circles completely /
partially shall not be evaluated.

. Changing the darkened circle in any manner
putting ‘X’ mark / using white fluid / erasing by
rubber / blade etc. shall not be evaluated.

. This question booklet shall not be opened until
instructed. Write your Roll No. correctly in this
booklet as well as in the OMR answer-sheet.

. The candidate should check th
! e No.
gnqted Pages and Questions along with theci):f
s fé;?all rl]\lgos;. {R caze fof any discrepancy found
e the defective one and ¢ ’
another correct one from the invigilator vSiltlﬁi%t

5 (five) minutes and th
shall be entertainsd. ereafter no complaint

Odisha Conduct of Examination Act, 1988
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5 qaiey aaq GRS 1 6a96e AU O @eady QIF OMR ada @ g8
6604@ gae 16 ; A,
2@@@ ole/ @Rl QR 04§ GRA FIal S AIET @R /

r possible answers. Choose the correct answer frqm
Each question dhzzr;g: thi:a appropriate circle completely in the OMR Sheet with
among them an

Blue / Black ball point pen.

o G¢ 3R141 6 AQIFGIE W

Q:Hu.n DEVELOPMENT & PEDAGOGﬂ

1. 1958 A1QQI6Q &I QI Geles Q09
RIGIA TR ANIAT @4 oM ?

(A) 6MIQ gom

(B) 96l QIR 6949
(C) 9dgaIal sear
(D) QRg1 QIR gea

2. 6P9I60 egRIT! QIdigecq QRENG
62601 QITN6R FI Felgiad ?

(A) 18 (B) 10
(C) 21 (D) 29

3. 620% P80 6 Ange AILARR 9@
694y 2667

(A) &y aonal earg Fgiely AQAUPIB
sQIRelg

(B) Y2l 9igl ag PEANVNEQ ALY Feq

(C) g 66199 RIAER YIRS
(D) <g amm/@@ F12Q Q@ 69191 Qg
QITRIER QIRIY @Bl

1. Who was the Chairman of the National
Council on Women’s Education,

established by the Govt. of India in
1958 ?

(A) Jyotiba Phule
(B) Durgabai Deshmukh

(C) Swarnakumari Devi
(D) Savitribai Phule

2. In how many languages Mulﬁlingua!

Education Programme is now going on
in Odisha ?

(A) 18 (B) 10 °
(C) 21 (D) 29

Which ofthe followingis a characteristics

of continuous and comprehensive
evaluation ?

(A) Itincreases the workload on
students by taking multiple tests
(B) It helps in reducing examination
phobia
(C) It replaces grades with marks

(D) ltis useful to labgl children as
slow or intelligent

P-1

()

(Continued)
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4. FORNYC CRIQ 69 QBT FE QRIS
Faeie an 0x?

(A) 96 QU dRIg 684116Q ORI
GRT6Q AN YRR

(B) 6QFIGT QTG QRURIA AN ARIQE
JYR ACTOR UV IYR 2GR

caelsn QRS GRIT A2 §4 QRee

(C)
QIdY RARIg M AT

(D) 621G K8l ARSI FSIRQI QPR gew

5. @66 asmaij QAT & PRI LR
goR! 696 AQIFEQ ARl ?

(A) 95 aQIYE
" (B) 2@6AISHG! ARV

(C) .:‘-.ﬂl{?lﬁ@ AQNQE]

(D) 9@ Qe I

6. 6a0 gaIa RIGG gaRe! fda ARAIEa
Qbe adnias aatal ggs ?

(A) QIeIe 2g06aIeT
(B) ' GOR 2SI

(C) 2aaRr! gRae!

(D) @deaIa’ A8 -

BOARD OF SECONDARY EDUCATION, ODISHA

SET -

4. Which of the following statement is
true about hearing impaired students ?

(A) Hearing impaired students should
sit near the window of classroom

(B) General teachers should learn sign
language for interaction with them

(C) They like to perform group activities
along with the general students

(D) They should not learn to speak

The information about a learner, what
he/she can do in future could be
known from which type of test ¥

(A) Achievement Test
(B) Aptitude Test
(C) Standardised Test

(D) Teacher made Test

6. To identify which type of educational
weakness, achievement test is

essential ?

(A) Emotional maladjustment
(B) Reading disability
(C) Delinquency

(D) All of the above

OTET/P-l - (3)

(Continued)

Scanned by CamScanner




Youm

522

7. QIRYe aug 64 @16 Rea Re
999 IR QRIS GT 6% ?

(A) 6960% FGa Tga oae QA AGER
dIAVNER R AR FeR

(B) QIS e IYAVAGI /A
62IRelg

(C) @ﬁg IR IR AR FRYILR
Q9@

(D) QQIRIEia 2YINA JIYS W6
deIe ARIR QA

8. JYQ 6AIER IR RITNQ TRITR AUCS'?
(A) 62 Q°8Iggd
(B) 62Q@ QI go@
(C) <°9Ig9g4 B UR6IR QIR TAI
(D) 6xew 2eRoR QRS

9. ‘2880l G gITe IRl Aeaace afeee
Zaqer — 92 QR A9 ?

(A) QIeRq O
(B) aea

(C) 4QER 4. 6916q

(D) @9

SET -

7. Which of the following is not a demerit
of long answer type question ?

(A) Secured good mark in the
examination on choosing selected
topics

(B) Reliability of the scores becomes
less

(C) Different examiners evaluate in
different ways

(D) Handwriting of the examinee does
not influence the score

8. Cognitive development among children
is the result of

(A) Only heredity
(B) Only environment

(C) Interaction of heredity and
environment

(D) Only economic factors .

9. ‘A modification of an individual's
behaviour through experience and
training’ — is the thought of

(A) Gardner Murphy
(B) Skinner
(C) Edwin A. Gates

(D) Kimball

OTET/P-I (4)
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10. @64 Joe QAR 9eRdIR Ter 9f
RQAIAER ?

(A) FIEie QUER ARG A9 AYYES

(B) 96 JAIIT Ol 2LRAER AS6HIG!
26l QA6

(C) SRIgealR eaQRl RIIgn 8 adea 6
<2Ig AR KRR AR §F A6AD g26
R06Q

(D) FRIEAIRE 9 F0F QA ML
geaIe g8 @R6<

Gga aug 69e6 Fasa G dige

11.
FRIAGA IR 28 6RIRUAR FIZ?

(A) Q8G1@ead 99

(B) @48 idl
(C) PaQIae-99% 6509

(D) QoIS @Qd

Qe d84 R Gaaeg caa 9ol

12.
cga aticasa @4adl Qael Q6] ?

(A) 6asi0I6R 6aAIEH ZUR 60Rg@

@Gel QIR geals AIREE

cacolea 6afIRaa ZaHe! 3

QIR AR AT f@e

(C) 64R0I6Q 6aTNTY gloj@ QAIGrAI
fimea

(D) 6990168 @601 qerel 928

(B)

10. Howcana teacher fos

11.

12.

SET -

ter creative

thinking ?
(A) By keeping constant surveillance

on learners

(B) By expecting nothing less than

perfection from every learner
ult activities for

(C) By selecting diffic
ding them rigid

learners and provi
directions to follow

(D) By providing opportunities in
different ways to the learners

which cannot be a

Among the following,
d comprehensive

part of continuous an
evaluation ?

(A) Cumulative record

(B) Assignments

(C) Parents-teachers meeting

(D) Anecdotal record

For better learing, which type of

environment should be provided to

children ?

(A) Where they will get maximum
chance to play

(B) Where their experience and feelings
will get a proper place

(C) Where they are likely to become
more and more friends

(D) Where strict discipline is adopted

AR

OTET/P-1

(5)

(Continued)

—.——

Scanned by CamScanner




SE

In tribal areas, which is a function
QARG MG 2EAY QBQ [e63 Organised by ‘Srujan’ to attract the
'Y’ ATQ 664 A QG AAIARAIN ?

children angd community members

towards the school ?
(A) 998 QNG g

(A) Preparation of teaching aids
(B) qie, Qiay, gou eeq

(B) Song, music and dance festiva]
(C) Q& eaq (C) Story telling festival
(D) &que qie, 6que 98 ooy JaRea (D) Develop of local song and local
A g8 | story etc among them
14. 309 cad 083 Qe 2isg 2 14.

Which of the following statements is

true ?
(A) oIt TRl Queel Faeq AR AR
QARIQ

(A) Multilingual teaching system is

(B) dmudiiag QAALER

helpful for learning progress
9RQ 2R Qg
dgaleq QI

(B) Learners cannot learn more than

two languages at the same time
Y688 edadadia 6a 6qap
UPY91e 9IS 6 GeRIB dq A3

(©)

(C) Only scheduled caste and scheduled

tribe students are included in special
category of students

(D) 299918 RIGQ a%IR Qaan vee G

I R (D) Ascheduleq Caste stud§nt has less
dRIIge 9dia &igig oIg Fae QAILeNeR
@4

learning capacity than'a general

student having same age group
15. 69RAI0G AI8l Q13616 6384 caiacy

15. For whom, individual educétion plan
490 @A Ieaye ? should be developed ?

(A) o9 & Jaieh (A) Locomotor disable student

(B) q19de argaq dqie (B) Mentally retardeg student
(C) QAP Sl (C) Girl student
(D) @usaia aag (D) All of these

_
OTET/P-I (6)
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16.

17.

18.

19.

AU ANICR QIR FY AN caeq
AGARI QINT QTR IMIRA (KGBY)
Ide QAR ?

(A) SRR 2004
(C) <@ 2009

(B) zoa 2012
(D) Q699 2005

g{g @jmmq A96Q AFQE FNNQ ey Ray

(A) 9EANR AR 6QIRR, ARG Gl
QIS FAER AN FR14)

6@lId IR YaIe JREER Y@ ARISE
A06Qaq RIBQ KBS

(B)

28 G F1IF ARSI Y ARIFIRG
QRIS IQURAER Sl 69!

QUCAD 719

(C)

(D)

RUS1G AIOIGE 2K 2005 6Q 62
LI GUIRE QAUAIRE ?

(B) Qage
(D) QAW

(A) 22564
(C) 992

JFIQR-I96 RAKAETA FF] IR
g Q7R QUGS QDI
QA6 AR |

ohen 909, 98gad, a6T aRRel,
o0Ree

(A) 9agne, 9o A6 ARRSI, 2N
@R

2ARR 49!, afgnd, 9R%g, d6U
DR

oRea, afgead, ARG @RS, J6Q
2R

EQIT 2IERGI, 2ERD, ORDE, ARGAE

(B) .
(C)

(D)

16.

17.

18.

19.

TOTERRAERIANLI VN kWM WY WIS

SET - (B)

For education of girls, when did
Kasturaba Gandhi Balika Vidyalaya
establish in our State ?

(A) July 2004 (B) August 2012
(C) April 2009 (D) November 2005

According to Namgayel, what is the
major aim of integrated education ?

(A) Ultimate goal being optimal,
academic, social as well as
personal learning of each child
To transfer from a specific or
different atmosphere to a general
atmosphere

To teach low and medium disable
child in general school

(D) All of the above

(B)

(C)

What type of education system does
National Curriculum Framework 2005
encourage ?

(A) Inclusive
(C) Speciai

Arrange the following teaching-learning
materials as per their usability, in an
ascending order.

Acting, Excursions, Contrived
experience, Film.

(B) Integrated
(D) Regular

Excursions, Film, Contrived
experience, Acting

(A)

Acting, Excursions, Film,
Contrived experience

Film, Excursions, Acting,
Contrived experience
Contrived experience, Acting,
Film, Excursions

OTET/P-1 ™

(7)

(Continued)
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G918 QAQ 6996 IR GRe QiKY G6% ? 20. Which of the following is not a learning
20.

activity ?
(A) 9% 6RYal

(A) Essay writing

(B) Qg AAIN T (B) Learning as per the formula

(C) UASRI 9Q (C) Seminar
(D) N K< (D) Dancing
21. &dRe SRea sed advgca QAGAE 21. The ability of ‘Seriation’ s the
@9 RS 98 AiRag ? Characteristic of which cognitive
stage ?
(A) Qsqeiee (A) Sensory motor
(B) 9IR iy (B) Preoperationa]
(C) 9 eaidy (C) Concrete operationa]
(D) @99 (A)qes (B) (D) Both (A) ang (B)
22,

deiees A6 2gaica Sag cog 85 Fgm

12 22, According to Piaget which of the
I LRI dIEeQ LIQAIN2INg?

following shows Characteristics of

“Concrete Operationg| Period” of a
child ?
(A) Q96 See a and saiqaelg

(A) Unable for congrete thinking

(B) %399 Fasie aise QIRAIER

(B) Unable to change thinking in g
aaie

reverse way
(C) 9ga aifie Sagsa fIda) 2iga eeq

(C) Starts to know about the eXistence

of objects
(D) &geqs @del 2iaa esq

OTET/P-I

(D) Starts following

.
(8)
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[ A, :
- BOARD OF SECONDARY EDUCATION, ODISHA

[t SET -

23. RIF €0 AL
J915e 62088 ©q anda @RI 23. The Psychologist, who did not support
Constructivist approach, was

A) ARG Q
A o el (A) Albert Bandura
B) @@ daiew
(B) &R (B) Jean Piaget
C) @9 Qe9
(C) # ¢ (C) John Dewey
(D) AIRS IR 69T 9L (D) None of them
24. gg;]?ﬁﬁflﬂjﬂ%ﬁ‘fm -2009&) 6 IRl 24. According to which Section of RTE
o %Z%g@i%,f"m% 99 QI AIRdR Act-2009, ‘No child shall be subjected
, ' to physical punishment or mental
harassment’ ?
(A) Q24 (B) u1Q129 (A) Section24 (B) Section 29
(C) Kl 29(2) (D) Ul 17(1) (C) Section 29(2) (D) Section 17(1)
25. JRIFIEE QTRIER QIF1 ¥QYYA 696R 25. Which type of evaluation needed to

know that the students are applying

QGeQ1 FI0R IS RQaE & Q12 HISS!
the topics taught during working in a

IR 684 gRIA9 RIS SUAIN ?

garden ?
(A) QORARS (B) QIR (A) Formative (B) Diagnostic
(©) @eair (D) 2T (C) Placement (D) Summative
26. Goupaa agel geeaITiesa goQ 21an 26. Which tool could be used to record the

details of a student winning in a school

G?QE{QI Jaa aedl adee @<l Qo6
debate competition ?

Cao Baa ARIF QIR KAES ?
A) Anecdotal record

(A) QSaIeR1 FaQd (
(B) Checklist

(B) 6°)n@
(C) 6af° 62 (C) Rating scale
(D) 6S63T G628 (D) None of these

—
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27. “30 6298 g9 9619 (U6 48 (g

QR - @9 QRYEM ?

(B) ealom
(D) 912949

(A) 69799
(C) AAWGIGR

28. d94 QY BEL U2 6208
(A) 9@ Gae Sa8 aad
(B) SR JQIQIR-994 990 QALIQ

(C) 9 78] QI 69669 FAIRIG AGEQ
AANAQ

(D) 9% IRI9Q 8¢ 980 AR

29. VAT AR IRAIAR Fan Q8

A9 AR J9% FeR 99 asRa! QWF?

(A) 98 6 a1d 2ea e a4

(B)
(C)
(D)

Qg Geg 99
99 Q0 99 94
@92 289 e g9

30. 9999 G4l 6P 9Ye NIEIEH

PR 600 79 98 Q& 6aal 2R ?

(A) 64611 Q°G0R

(B) 496 20948 Q49!
(C) 994 ad@e aIR 6QIRe!
(D) QQ6QI8 A

28.

29.

30.

SET - (B)

27. “Education is the creation of a sound

mind in a sound body” — who said it ?
(B) Koutilya
(D) Sri Aurobindo

(A) Spensors
(C) Aristotle

Activity based approach is
(A) A specific learning process

(B) A collection of different teaching-
learning process

(C) A specific or collection of some
teaching process

(D) A collection of different types of
learning process
For developing creative thinking

among the students, which type of

questions should be asked by the
teacher ?

(A) Open ended and subjective
questions

(B) Multiple choice questions
(C) Short answer type questions
(D) Closed-ended questions

Which of the following aspect shoulg
be given importance while

| preparing a
multigrade teaching strate

gy ?
(A) Classroom organisation
(B) Provision of learning materials

(C) Planning for learning situation
(D) All of these

OTET/P-I

(10)

(Continued)
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N BOARD OF SECONDARY EDUCATION, ODISHA =
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31. 699 IaC g8°? .
) ~ 35, 6QQG gladR 206Q QI I KEw
(A) AFFYAIQ Q6%?
B) QuEQeIAIg 5 A |
(B) qe% 1ge (A) 9IR6 QB0IQ T4 |
(C) AZGRNALIR _ P — E
(B) % 62dQ Q°YE LG Y ‘a

ceqiq geale 98

(D) UgeYuIasIe
(C) @Il QLR @Gl

(A) Qo< (D) QUISLITR MIFASIER gie 98 |
(B) gd 36, co¢ @0l Gl @3a, 4891, 99916 |
(C) gaqe cagal G 2Ee1e 62IREIN ?

(D) geqa (A) S0 Q&
y
(B) Qyeelfe UIKAS!

33. aRIg 6] G ERAADT 6@a QIO Q19

QAAIR6EQ @K ? ©) q&a
(A) &t (D) geald
(B) << 9 A s
37. QERIQ 6@ QIR Qe @l «Ie -.
(C) QUaxd Qaee ?
(A) 64 6alIGHd gEia aml
(D) @8l meid ) G6g gaea 9é

(B
(C) 994, TIEQ 66T qe?
(D

0. Geae 9Igd 6 i X
) 2@ g gag SIaT

34. oo atea 99

sicaIcy GEAR AIerd FIIE 6a6 6QAaIRER
N 38, 6ad 0 A26 URY 999 AT g QIZ ?
@ 2 (A) QEQRIE IO _ ‘
(B) <@g (B) Geasy |
(C) ARIaT (C) Q<RI

(D) G649l

(D) FAIR QI
(1) (Continued)

OTET/P-1"
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43. PORYS 699 GFR 28 ‘A910TIA ARISY

e o6l 71 G ?
a9, COIGEETIAG FRYAT - coa ? 29 i |
qpiaesa F6S0AEE (A) @098 €0 |
(A) QUeIR (B) 99 ege |
(B) €07 48R (C) 29 oeR2l |
(D) 8% 9]
(C) Qniaqee
(D) QFQal eas! 44. BIRYO FRIQ 6AAE IR 6T IR 26E ?
(A) 999
40. 598 6906 edigia 1@ AAa 269 ? (B) g
Sad (C) qfe
108
) g (D) S99

(B) 99QG QIGIQ AN

2Q6R9% QIO /A FYRYS 999P9R (T4 «°
(D) @deaI8 ang a9181 @oR 28 - AR Feg SIdel
41. Q8 JAQ YRAISIIER 6aERe FiiRaife. 4 o jerca o

Q9921691 58I 9891 2IaHg 2 6QHIRGI AQOIQ FAF1 | AR KeSY @€l BB

(A) @R 6a0] 40Q1 @30 | ARIQ 98 QRS 9Fe 8, 69
(B) g%¢6aoq 99 Golq @Gl QIR 2IAE SRR QI |1 [
(C) @R G gag (3 QR LAIREQR FIFAR FRIF—FIFRUAR 2
(D) 219 6op O QRS | @g AR0I6Q G12l gedld QAR
2. o608 990 g - co Q0Q Q6% | a@qoleg gfsa.lfa @@QL@” QI21Q
2290 26g 7 99 - 694 9o g4 gee QIeaia | ARSI a5 A8 [T ARYWQ

90 gEeQ 2ILad FAIg 699 | 6aId Rl

(A) o1l e8q geq qRIg g8 MIET, @3 969 ALCEET A

(B) 92 e8a e Qide g4 | Fig Fig 6018 @IBI6E; A3 A1gS
~ & Q Q& QIE QISR |
(C) egha 6918 68IFRl 01 9gR 98 FER LY
aga g8 QIEQI6R g el dee dals
(D) 61635 ges ol
(12) (Continued)
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45. 699 QUAER TR FFVQ QU
FAARQ QIF ?

(A)
(B)
(C)
(D)

aag

AMNA Q' YA Qe
AN RITIER 61T 6IHIRQ!
AR 6Q1Y 6T
gQ 6919 RIS

46. 6RRLEQ 2UCY AR QIR ?

(A)
(B)
(C)
(D)

IR 98l QIBIER
g ALALER
Qe B QAU RAUER

AJR 9Q VO @ CHFAUER

47. ARER AGOIQ GIQ XE?
(A) Q181 Q9%
(B) D169 CauEe!
(C) Geg Il
(D) gy Qe

48. CI0Q @4 2I120s @2 ?

(A) 3
(B) a@iQl
(C) rf«a
(D) AR

49, 6296 Q@IGA ?
(A) SF10IQ QU
(B) Fag K& OIQ 2R KIS

(C) 6ga 62Id 68lIFaI 0 Fiea 94 QIZS!
(D) iea 6QI8 68IFRI OIQ 8GR g6l QRS

50.

51.

52.

53.

54.

=WAnRW Ur SEVUNVARY EUUCALTIUN, VUIDNA 1

SET -

‘A3 636 AIT6R, 6569 2T A 627
— 2| 6QQ 9RI0Q QU?

(A) Q0% ;_
(B) @G@

(C) 6<IaQ

(D) J9999@

6RA IRG g 26T ?

(A) dgal \
(B) €dal

(C) ggal

(D) ggal

Qo0 @RG! 699 QTG QAR Fea ‘\

QREQ ? '
(A) gé<l

(B) @<l

(C) qQaal

(D) GRYS

QEI0R TR &6 92

(A) 28 AATER AR AFFY

(B) ©eeI JAAEA NUIG2E LS 99

(C) 9QIgEl B QFINE QIR 2RQE Q6T
(D) QISYRIS A2 §4

609 903 Q8 21ei6a ‘@ gesya 26T ?
(A) QIO

(B) oI@d

(C) oed

(D) o0&

OTET/P-l

(13)
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. : 57. ORI @9 °?
55. Q99 Qg 669 9rG ‘agera &
QUNGITEIRIR 99 26T ? (A) aipel
(A) 6cIeq B) o
) o (C) Qo
(C) <qa )
(D) &Jacy (D) oo
€ea o8 & 56 2 60 ade gqqpes 58. QG 6@ QF AR AQRITS 621G ?
QRQ G - )
OR-296-218 gion QRRe, (A) giet QReag

SR 60@ &3 gaqy QWTG,

(B) eaaig .

RAR-20Q, RaIR oxsa R ©) idg

SR@-AR s2I 6geq QAWRRQ |

9NN 682 @4 agig QAR (D) ogag

IR0Q Jeqsy ¢ap qqaR,

QU 21gein egen 49 6e2yg

01 G218 43 a1rae - 59. QIR &4 a0 @R AR ?
Q991 296q qigg 99 aap. (A) asig RO
ARYR PRRI6Q 0F 9&de, -

99 99 s1eiag UGS 2oI6q ®) 1999 deqq
PRI 21g) 6€189-a180 | ©C) aade qa
49910 6591a oagie 6 .

AM A D) e daq
9eef cdIganl gaier SR,

IR 6201 AIRea 9 4e6a
Y AR A6 Ggo CLEN I |

60. Qiqq d2q96q Q99 60170 SLRYM ?

56. &9 6@e agp » (A) -ARaq
(A) Geo eap (B) GaIa yaq
(B) ege (C) AIRe gaq
@R ﬂ
i a (D) S22 aapq
(D) Qg Qg Melq ;
—_—
OTET/P-I (14)
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61. Which is not a method of teaching
English ?

(A) Direct
(B) Story-telling
(C) Grammar-translation

(D) Bi-lingual

62. Which method is used while teaching
grammar ?

(A) Explanation

(B) Comparison

(C) Inductive

(D) Exposition

63. Which one of the following sentences

is correctly punctuated ?
(A) Wah, what a shot?
(B) Wah! What a shot?
(C) Wah! What a shot!
(D) Wah, What a shotl

64. When my little daughter came back
from school yesterday, she
her dress.

(A) tore
(B) teared
(C) tomn
(D) hadtorn

65.

66.

67.

68.

To locate a particular fact in a Text is
known as

(A) Skimming
(B) Scanning
(C) In-depth reading

(D) Inference

Which skills are productive ?

(A) Speaking and reading

(B) Reading and writing

(C) Speaking and writing

(D) Writing and listening

Which word is used as the post-modifier
in the Noun Phrase of the following

sentence ? i
The weather today is very fine.

(A) weather
(B) today
(C) very
(D) fine

Our classroom by
tomorrow.

(A) will clean
(B) will be cleaning

(C) will have been cleaned
(D) clean

OTET/P-I

(31)

\
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69. Reading aloud helps in

(A) Pronunciation
(B) Comprehension

(C) Sense grouping

(D) Pronunciation ang Sense grouping

70. Major focus in Poetry lesson is

(A) Comprehension
(B) Music

(C) Appreciation
(D) Re.c'ltation

71. Correct articulation is required in
(A) Listening
(B) Speaking
(C) Reading
(D) Writing
72,

Receptive skills are also called as
(A) Active skill

(B) Productive skill
(C) Passive skill
(D) None of the above

73. The day was
(A) hot humid and tiring.
(B) hot, humid and tiring
(C) tiring, hot and humid
(D) tiring, hot humid

SET—

74. A number of children from

cold.

(A) is suffering

(B) are suffering

(C) has suffering

(D) has been suffering

Read the following Passage and chooge
the answer that is closest to

Questions (75 to 79) that are
passage.

each of the
based on the

Does everyone like early rising ? The great
advantage of this is that on

€ can start one’s
work long before others.

He

One takes Some time for e
morning air. |t Supplies him
energy and enables him to

Xercise in the
a good deal of
work hard until

75. What is the advantage of early rising ?

(A)
(B)
(C)
(D)

for a better sleep at night
to get great deal of money
to break the boredom

to start one’s work long before
others

OTET/P-1

(32)
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76. What is the mind like i :
(A) lazy like in early morning ? 81. Which of the following is grammatically
acceptable ?

(B) hard (A) Theinjured
were sent to hospital by
(g) fresh car last night.
borin .
(@) 9 (B) The injured were sent by car to
hospital last night.
77. The passage begins with p_ _ | .
sentence. e (C) The injured were sent to hospital
(A) Imperative last night by car.
D) The injured we t last night to
(B) EXCIAmEEOn ® hosplit;I r;y carre sontiest o
(C) Interrogative
(D) Declarative 82. When decoding is required ?
(A) Reading

(B) Speaking

78. What does exercise provide with ?
(C) Writing

(A) Energy
(B) Sound sleep (D) Listening
(C) Money '
D) Rest 83. What does a child enjoy at the time of
(D) Fes reciting a poem ?
79. What is the opposite meaning of (A) Rhyme and rhythm of the poem
‘enable’ ? (B) Its Music
(A) unable (C) ItsIdea
(B) disable (D) Both (A) and (B)
(C) suitable
(D) nonée of these 84. ltis unique opportunity on my
part to present the Annual report before
80. All the students agreed _— the you.
programme of the examination. i), &
(A) to
(B) on (B) an
(C) with (C) the
(D) in (D) some
OTET/P-I (33) :
(Continued)
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g5. Naresh is very hard working

he is really not intelligent.
(A) and
(B) yet
(C) still
(D) but

B |

SET - (B)

87. The is purple and green

coloured.

(A) dress of the weavers

(B) dress of a new born child
(C) the queen’s marriage veil
(D) the robe of a king

Read the following poem and choose the
answerthatis closestto each of the questions
(86 to 90) that are based on it.

Weavers, weaving at break of day,
Why do you weave a garment so gay ?
Blue as the wing of a bluebird wild,

We weave the robes of a new-born child.
Weavers, weaving at fall of night,

Why do you weave a garment so bright ?

Like the plumes of a peacock, purple
and green,

We weave the marriage-veils of a queen.
Weavers, weaving solemn and still,

What do you weave in the moonlight chill ?
White as a feather and white as a cloud,
We weave a dead man’s funeral shroud.

86. What do the weavers weave in the early
morning ?

(A) a bright blue cloth
(B) a dull grey cloth
(C) a soft white cloth

(D) a red-coloured veil

88. What do the weavers weave in the chilly

moonlight ?
(A) agarment light as a feather

(B) a garment meant to cover a dead
man

(C) agarment to keep away the chill

(D) a gament to wrap a newborn
child in
89.

The three stages of life mentioned in
the poem are

(A) infancy, childhood and senility
(B) infancy, youth and death
(C)

infancy, adolescence and
middle age

(D) childhood, adulthood and

senility

90. Whom does the poet address in the

poem ?

(A) weavers
(B) children
(C) queens

(D) all the above

OTET/P-l

(34)
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91.

@@1@ / MATHEMATIC@

@ QU QLR 6T 6141 165°
626R, 1LIA QI A°HY| 6R6E?

(A) 30
(C) 18

(B) 24
(D) 15

92. QAR QEEI B AR NIAIT (1) AR

Q5 60ITN 6QI] B 66ITT TRAAG SRR,
4R QQl CAINIRIR QR 99e @RER, N
QAR 66T 62Q?

(A) r

(B) 2r

[
©) 3
(D) 4r

93. QUEES qoTgAlsa 6JRe FQER

6R0. AAUDER g, MIGLR GRS
QA6Q 2R QU ERYSI AR AR ?

(A) QEYARR
(B) 9I] TR
(C) g% QR
(D) @euge ARy

91.

92.

93.

If an angle of a regular polygon is 165°,
then the number of sides of the
polygon is

(A) 30
(C) 18

(B) 24
(D) 15
A solid spherical ball is prepared by
melting a cone and cylinder having the

same height and same base radius
equal to r. Then the radius of the sphere is

(A) r
(B) 2r
r
©) 3
(D) 4r |
According to Piaget at which period of
cognitive development a child starts
to speak or write the numbers in a

reverse way ?
(A) Sensory-motor

(B) Preoperation
(C) Concrete operation

(D) Formal operation

OTET/P-I

Qe Q1414 QIR DI / SPACE FOR ROUGH WORK

(35)
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95.

94. 986 GUIAIRER MAGE 6T IR A

g6aa4 QUSRE 26G' ?

(A) eeIf6q!
(B) 6aueg

(C) o=Gg

(D) 6T geg

6RA IG5, 7 6 9 Qi PRI Q6
BUG RER, NCAY QAIFEA 3,6 6 2 oF3q?
(A) 93

ﬁ

94,

95.

SET—

matics, which of the
aS a non-projecteq

In teaching mathe

following is useq
aids ?

(A) Domino

(B) Ray diagram
(C) Films

(D) None of these

Which number, when divided b
5,7and 9 Separately leaves remainder

as 3,6 and 2 respectively ?
)88 (A) o3 (B) 85
(C) 83 (D) 75 ©) 83 D) 75
9. 2% QiET TR cas e ga qia 98. 281 is divisible by which of the
QuueY? following two numbers ?
R) 568 B) 667 (A) 5and6 (B) 6and 7
C) 769 (D) 9611 (C) 7and9 (D) 9and 11
97. “Q°J9QI 6208 9T 6 U 21" — 97. Who said, “Brevity is the soul of wit” ?
QP37 QAQN?
(A) Q. g (A) L.Bers
(B) RIGIQ Q049 219 — 2005 (B) NCF - 2005
(C) adeag (C) Thorndike
(D) @reae @F 6Agdaq (D) English poet Shakespear
Qe @IKY QIR IR / SPACE FOR ROUGH WORK
OTET/P-I

) (Continued)
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98. &4 GIE6Q ‘AHIe SUER QIat’ S

6QREER?

(A) 6QIGR 6QRR

(B) IR 6gRER 6
(C) aARKB
(D) 9G8R 6wa

go. Q96a GRS 949eq w68 Sl

Q&0 6§416Q A6 |

(i) SATY AASEAGR caIG~ QIg 5 64
@ Qaaiel 30 6951 626, IZIQ EAGTH
C@Ee 6LQ?

(i) LMARER QRS 990 @
cAAAIRER RIAI 4 26T |

(i) 0-8F1IER YAl A1 celEe@ QS
6w |

(iv) 219668 A6 qIdeQl 696led

QIEoR geal @2 |

A (), (i) 6 (i) F5e eaa gae & V)
e Qa9 fae 94 26C |

(B) (i) Faa ee gae e (i), (iii) @
(iv) 98 98 fae g4 6 |

(C) (i) @ (i) 7aa aga qae e (i) 6
(iv) g8 @ea gae g4 266 |

(D) (i) 6 (i) ?eg aea gee 1< (i) 6
(iv) g8 209 @@ g4 263 |

98.

99.

SET - (B)

Who said that Mathematics is
‘the queen of sciences’ ?

(A) Roger Bacon

(B) Carl Friedrich Gauss
(C) Archimedes

(D) Shakuntala Devi

Followings are some questions posed
by the teacher in the mathematics
class:
(i) What is the area of the rectangle
whose one side is 5 cm and
perimeter is 30 cm ?

(i) Find a set of numbers whose
median is 4.

List all prime numbers between
0-8.

Tell anything mathematical
information you know about

rectangles.

(i), (i) and (iii) are closed ended and
(iv) is an open ended question.

(i) is closed ended and (ii), (iii) and
(iv) are open ended questions.

(i)
(iv)

(A)

(B)

(i) and (iii) are closed ended and (ii)

(C)
and (iv) are open ended questions.

(i) and (ii) are closed ended and (iii)
and (iv) are open ended questions.

(D)

Qe @Iy QIR A9 / SPACE FOR ROUGH WORK
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o G046 9EUeR VG IR 100. Which are accepted as essential part
" :gq?@aqa 2°4 QI6Q FIRIQ RRIAIRE ? of the mathematics learning process ?
(A) §° (B) e (A) Errors (B) Numbers
(C) cidee gl (D) Jme (C) Calculations (D) Theories
101. %QWQS@G@? 101. What is the value of \/252_:57
(A) 25 (A) 25
(B) 25\10 (B) 25\10
(C) 25 (C) 25
(D) 25410 (D) 2.5\10

102. 6N 92 aq §8% Qderay, are

102,
US98 A 4 ga AR QAT | @weq

A two digit whole number is equal to

4 times the sum of its digits. If the place
AR S GG AR [N engem, g value of both digits is interchanged,
TIIT 2R ASFVR ARG 6366 8 Qg
QAR 629 ?

how much times the value of the new

number will be compared to the sum of
the two individual digits ?

(A) 38 (B) 5 (A) 3 (B) 5
€ 7 (D) 9 €) 7 (D) 9
Qe QI QIR AIP / SPACE FOR ROUGH WORK
OTET/P-I

(38) (Continued)
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103. 15 @ /10 99 6acc 62 ?
(A) 5
B) 56

() 1045
(D) 65

. AN

@8 0956 cacelc gean 24 28 ?

(A) 3
(B) 4

103.

104.

SET -

The value of +10 times V15 is

equal to
(A) 5
(B) 5v6
(C) 1045
(D) 65

How many lines of symmetry are

present in the given diagram ?

(A) 3
(B) 4
(C) 6

(D) 12
WORK

(C) 6
(D) 12 //
qex @I aig aie / SPACE FOR ROUGH
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105. 8.4

106.

8, 16,96, 32, 7

o0 2GG16A 441 7 AIRER 63 A

Qaa?

(A) 192 (B) 150

(C) 58 (D) 288

QR T2 CAWY CAITY 6QEQ e el IR
R Qe QSR 6RYR TR BRI
QFIRE | AT TP TRAIER @ CIURER
ARG 6260 2R US 6RRE?

(A) 27%

105.

106.

SET - (B)

8, 48, 16, 96, 32, ?
What is the next term in the given
series 7

(A) 192 (B) 150

(C) 58

(D) 288

The given pie chart shows the spending
for a country on various sports during a
particular year. How much more percent
is spent on hockey than that of golf ?

(A) 27%
(B) 35% (B) 35%
(C) 37.5% (C) 37.5%
(D) 75% (D) 75%
Qg QIY AR QIS / SPACE FOR ROUGH WORK
OTET/P-I

(40)

(Continued)

Scanned by CamScanner




EEE—— e

107. 968 IV 69Q AVEF ATIELVE

QA 2
, 64 gewIQI] 26e Qf gee 9
QAUAIRAIER ?

(A) d98 A€

(B) 2ARCYQSITS RV
l (C) 67¢Q MAE

(D) Qa6 AT

Q 9IS

Qaeem?

\i 108. &4 gaes @il QRIS
%
(A) 62aal FRREER TX

(B) Te
(C) a’sm e@ade

b
‘ (D) Ies Q@ 692 Qe

9. 12@.40 Gae A qaladl 8
aee @8l crRieal 61819 aGelél 6@6G?

10

(A) 120° (B) 135°
(C) 140° (D) 130°
qer @14 aiq 1% / SPA

NS |

SET—

107. Duri
fol;rlng observation which of the
- c?wmg characteristics could be
. cided that whether a learner is
gifted or not ?

(A) Learning characteristics
(B) Motivational characteristics

(C) Leadership characteristics

(D) All of these
108. Who first introduced play-way method
in teaching ?

(A) Henry Caldwell Cook

(B) Skinner
(C) Finlay Johnson

(D) None of thesé

109. What will be the degree measure
of the anglé formed by hour hand

and minute hand of a clock at

12 hrs. 40 mins. ?
(B) 135°

(D) 130°

(A) 120°
(C) 140°

CE FOR ROUGH WORK
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110. 6915\ GERER QI AT 11 66q,
4210 9 U 660 6297

(A) 88
(B) 44
(C) 36

(D) 24

111. @64 QIR R

9ie Qg 100 BREH]

110. What wil| be the ny

SET—

mber of diagonals
of a polygon having 11 sides ?
(A) 88
(B) 44
(C) 36
(D) 24

111, A shopkeeper blends two varieties of teg
©.18 8¢.13 eggq Q@8 7:3 AQAIRER costingX 18 and 3 13 Per100 gms in the
Asiaea | ade 9121 100 g Gg ratio 7 : 3. He sells the blended variety
S. 18.15 QQN‘GQ QQR6R, OIFQ 6960 atthe rate of < 18.15 per 100 gms, what
ARG AN 629 ? will be his profit Percentage ?

(A) 8% (A) 8%
(B) 129, (B) 12%
©) 159 (C) 15%
10%
(D) 10% (D) 10%

Qg RIdY QIR AR / SPACE FOR ROUGH WORK
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112.

70° 307
R

¢ae, PQ, QS8

—

Q S
Q@ 5969, PS, £P Q QY
sR G AINQ OF GAER ANAER &' 6297

(B) QS, SR, PQ

(A) @S, PQ, SR
(D) SR,PQ,QS

(c) PQ,QS, SR

443. 023 +0.283 ="
(A) 0.465
() 0.465
(C) 0.485

(D) 0.4654
cadalg 1@ 9
1 g@ml | 6969 (o)

Q QI 6@60 AmI?

114. SQR @ 22%
claga g2 @@ T 67
Gael gag e AR QIaw
(A) T498
B) T515

112.

SET -

.
R

Z P
ending

/)
In the given figure, PS bisects
Arrange PQ, QS and SR in asc

order of their length.
(A) QS, PQ, SR (B) QS
(C) PQ, Qs, SR (D) SR,

SR, PQ
PQ, QS

113. 023 +0.23 =7
(A) 0.465
() 0.465
(c) 0.465

(D) 0.4654
114. Increasing the
new cost of on

7 671. What was
quintal rice beforé

(A) T498
B) ¥515
(C) 3545

(C) T 545
(D) % 550
qer @15 qial i@ / SPACEF

OR ROUGH WORK

(Continued)

(43)
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i

$ 1856Q 294 ARQ 2SR /R K&l 115. Which method starts from unknown to
115. 6a@

cansa deEQlq 997 reach at a known fact ?

(A) e (A) Inductive
(B) Q@ (B) Deductive
(C) Q63aq (C) Analysis
(D) Qeqads

(D) Synthesis

116, J0Q eQI20d 391 99 arIgE 00 116. It becomes difficult for the learners
S§Ql fmmqu g\g}" QQ?Q G‘Qlafllx'l e 1o understand a general rule without
QNP A 69 ARDQ 9Q Qo aAeQ? ;
any specific example. In teaching
mathematics, it is a limitation of which
method ?
(A) 2isque (A) Inductive
(B) zesque (B) Deductive
(C) Tecagg (C) Analysis
(D) Qcaga (D) Synthesis
A @Il QIS UL / SPACE FOR ROUGH WORK
OTET/P-I

(44) (Continued)
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SET -

minutes time in

17. €0IGY Q2 a9l 9o ae
sig 963 | g?@ QQIea 3 ¢1a% A wall clock gains 3
IS & QE 1261 6a6e €9 e\{ery1 hour. If it is set at right time at
aaeg OR] IR, 6664 IIRUTER midnight and shows a time of 2:00 M
QQiG 6aeIRael 4G 2| 6260 999 a1, Igter in the afternoon, what is the actual
£Q6Q7 time at that moment when the faulty
clock shows 2:00 pm ?
(A) 26! QI& 20 AR (A) 2:20 pm
(B) 26! Qi@ 10 849 (B) 2:10 pm
() 1s1Qia 20 aaQ (C) 1:20 pm
(D) 1e1@i@ 30 2[A (D) 1:30 pm
118. A D 118. pa_————P
P P
Q Q
B C BL —— C
@@ 6869 ABCD & 2100698 9e° 9@ 698G In the given figuré ABCD is a rectangle
5 calE adan 2IACeREY 6T 0@ | ABCD and it is formed by 6 congruent
o cagae 96 og cad. 6268, <QIa rectangles. I.f ar‘ea of /'\BCD is
Gl 63667 96 sg.cm. Find its perimeter.
(A) 40 62 (A) 40cm
(B) 36 6Qdl (B) 36cm
(C) 48 624 (C) 48cm
(D) 96 6Qfl (D) 96 cm
aq @Idl a9 916 / SPACE FOR ROUGH WORK
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on 568 098 6ag OA=CD CEEM,
/CPD @ aaqlél 660 ?

(A) 45°
(B) 30°
(C) 70° .
(D) 60°

120. ABCD 9g§99 A, B, C 6 D 6QI&l Jeea
29016 3: 7: 6: 4 6261, ABCD 1@

(A) g\ﬂl@ﬁ@é@
(B) g4

(C) cid@asa
(D) aAeL

120. If the angles A, B, C and D of a
quadrilateral ABCD in the same order
areinthe ratio 3:7: 6 : 4, then ABCD
isa :

(A) Parallelogram
(B) Rhombus
(C) Trapezium
(D) Rectangle

Qe Q1KY QIR AR / SPACE FOR ROUGH WORK
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qGices a@ie / ENVIRONMENTAL SCIENCE

The word Swaraj was first used by

121, 6@ © caaolea 2gde @699 121
PRJEQERER FQUT <IN, QQela GleAES Dadabhai Naoroji in the Congress
IQl GeI6F UQGE CTIRYmI? session held in at__—
(A) RCo¥, Q6d (A) 1904, Bombay
(B) R¢09, @RAE! (B) 1906, Calcutta
(C) Q09,400 (C) 1907, Surat
(D) RCRI, 6sl (D) 1916, Lucknow
122. GaiReQ @@ Al 122. The northern most range of the
QUeea edIgsll | Himalayas is known 88 ———~
A 09 (A) Himadri
(B) 210 (B) Himachal
(C) QAR (C) Shivalik
(D) Qa6 6aaG g« (D) None of the above
123. cead U699 AYARD gq%e u6Qad 123. Which of the following is not an o3
aeta 9@ Qaalae! gs§ 2 advan_tage of nature rgsearch metho
of environmental studies ?
(A) amicles Gew Ge 9Q° gellél 64l (A) Children determine whether the
2g@aql Of @ o aaI08 @9S | hypothesis is true or false by looking
- into the evidence on their own
(B) GmIAER 4@ aacea caaRe A (B) Children develop the ability to find
QaIMIRQ AdI YRR @VC! QAR ways for solving everyday problems
Q3| ; in this method
(C) <@ a*G ag e, 21¢] 3 ARFER (C) This method helps in gathering
g od qrglaca ARIAw g | more data with less time, money
and effort
(D) <@ 88 e daaeee 6380 (D) Children’s scientifi e
~ = ic or inquisitive
q6RI9H QI 26Q8¢] (67198 96% | attitude increase
s throu '
method gh ihis
OTET/P-I* (47)
(Continued)
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SET - (B)

124. Atthe lowest level of learning,

124 ~ a5 ironmental studies emphasize
a6a 694162 Ja6RIQ Qer Q@RG! 203 [N env t . ntal skills in
e & ifferent environme
qgaeela AAIGIRE e 639AY QARIQ differe "
Jee  ARIFER  LUAM different classes and these skills are
calaad | acquired through ___ method.
(A) ge8 (A) Project
(B) QI6IRE (B) Observation
(C) Q6 (C) Survey
(D) 9]T QA& (D) Exploring nature
125. @9 A RILQ AT USRI ? 125. Who is the final interpreter of our
Constitution ?
(A) ULAIR (B) acxia (A) Judiciary (B) Government
C) ANARR (D) UL A8R (C) Executive (D) Legislative
126. QBIUC AR AQAFIRR 6aQ QL eARG 126. Panchayati Raj Institutions came into
AR AR Y& ARYRI? existence under which Amendment
Acts ?
(A) ¥9 9 99° ¥q o9 (A) 42nd gnd 43
(B) 9 9A98° 9 o9 (B) 86! and 87th
(C) sneaB9%ea (C) 63 and 64t
(D) 99 @¢199° 9% o7 (D) 73 and 74t
127. e@d’ﬁ@s&@azx ‘FI@GQ,”?IQI@G? alo, 127. According to which educationist, “Social
AT QB IR RUILIQE 6IRY6ER Study a programme of social science
daIEiRg Qg 299G 6QICINEaQ! should provide the students with a
Q0Q 1”2 variety of experiences” ?
(A) @26 adang (A) John O Michaels
(B) BF6ERAR & ARG (B) Ochicholson and Wright
(C) @q6aQe (C) John Kendi
(D) &9 L4l (D) John Dewy
OTET/P-I (48)
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128. GONYC 69T rIQ cRLE Qael
JAQUR-FYE ARG FA63 2UQENR G6KL ?

(A) 2 TAIRE CRIEQ QDT

CIRIERR REYR KGRI QFE

(B) T8¢ @sa84gdl G QIYQ 6271 AR

(C) Y2 JIREQ VS QI gediR

QUEQ R YN

(D) TRARE AR YV, 624 QA

9396 6 9 KR geaid Q8
QQQl AR

129. 6QOG QRIR QEQ ALY ABLS F6E ?

130.

(A) 6IRER A6RIGEQ TRl ARIS @S |

(B) QQQQ 691, 98, IR, 7@ AT RFe
ARG 9R06Q A°AT4 @Q YS! |

(C) 6TaR9 S1AAEA IRITA SRS
FI0Ia Gl @AG! |

Faries aeq adieed, a1

(D) S
216 QVGIQ IRNY ARIF Qe |

Jgiele- 996 a@s, dio 6QIRRIER
2iagie 690 QIR FEIN?
(A) -FRIQIR- F36 aIs gge IR

(B) Falqia — JFE AR aRIRA

(C) FmIQIe — a8 aeea! 9aal

(D) 66TE gee

128.

129.

130.

SET - (B)

Which of the following characteristics

is not required for good teaching

learning method ?

(A) It mustinculcate fundamental values
in children

(B) Learning needs to be purposeful

and realistic
(C) It must emphasize on teacher’s test

or performance
(D) Opportunities must be created

for children for self learning and

self evaluation and to explore and

present the information

Which of the following does not include
the aims of the science club ?

(A) To develop the scientific bent of
mind

(B) Preserving samples of plants such
as roots, leaves, fruits and roots in
a scientific manner

(C) To develop skills to apply science
in everyday life

(D) To develop skill development
tools in children like observation,

experiments etc.

Teaching — Learning method
included in the lesson plan refers to
which of the following activity ?

(A) Teaching — the preparation of
instruction for learning

(B) Teaching — learning time
management

(C) Teaching - after learning process

(D) None of the above

OTET/PI™"
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131. QI96Q AUYACT IQIERA mlaﬁlesam
gaIe 629 99Q TR FAUAKAINS?
(A) PR 9FA
(B) USRS Qe
(C) QUK LR g
(D) RAMARK g/

132. G960 AU I1G S(a

QR QRAIG g9 ?

(A) deqique
(C) @mm\g

133. i QR wIeER
QIR AT6R, ANTANG
(A) aeaqid
(B) @2c Q@
(C) sag ,
(D) Q[ 6ol

(B) L@@
(D) Q[

241

134. 660696 6TER @g g 1] 92

WIFER TEF, 6ACTEIER IRIQ QAU
I86a & ateee g?

(A) 229

(B) daeq 9@ aix a6a 214 aig

(C) o Q@eald

(D) Q& AIRaIg

SET—

131. The procedure of impeachment of the
President of India is

(A) Judicial Procedure
(B) Quasi-Judicial Procedure
(C) Legislative Procedure

(D) Executive Procedure

132. Which one of the following states

receives the highest rainfall during
winter seasons ?

(A) Mizoram
(C) Tamil Nadu

(B) Uttarakhand
(D) Bihar

An equinox occurs when the sun is
vertically above NESLRECCNE =

133.

(A) Tropic of capricorn

(B) Tropic of Cancer
- (C) Poles

(D) Equator

134. When an object falls freely towards the
earth, its total energy '

(A) Decreases

(B) Firstincreases then decreases
(C) Remains constant :

(D) Increases

135. RYG 9F0IGRR AR 626 63189 | 135. Which among the following processes
JRLRRA Y@ QILAE ? is an example of physical change ?
(A) Q9 [ (A) Burning of fuel
(B) @99 65160 S6494 (B) Electrolysis of water
(C) QRIRE 05 TIEER FL1RE FARR (C) Dissolving common sugar.in water
(D) <R aAIB (D) Ripening of fruit
OTET/P-I (50)
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136. @
;7 Qn ® @9l 9gQ 96 ¥ G/6q @r
64
Q QLIRAN 1 9IFIQ 6760 AAFNER

QY AT g ?

(B) 99 gm
(D) ®ogm

(A) T g%
(C) 28 g

137. 55151 CRIQ §@@“‘§ 69Q IR AR
6aa]Y Q6w?

(A) N2 FVEFIRG QBT 2FPC IR W6

9&° G946 9gg Jedea QILid] @6 |

(B) 92l SLE aGac6ea 2e, ARAUFHC
Q28 @6 |

(C) a6l asoQq s geIe a6al N[
Qe 2AgRE gIIe @6 |

(D) e Gaesa aer eIl gqla

@6 |

o6 agsed Al gaa 9@ @@

138. 699
Q6% ?

(A) S Gall
(B) 9° gaa°dil 98

) 999 asiea AgaEAC

(D) - 9IE aeea @ET QLI J

SET - (B)

136. A force increases the speed of a
1 kg object from 4 m/s to 8 m/s.
The work done by the force

will be
(A) 8J (B) 32J
(C) 244 (D) 164J

Which of the following is not a

137.
characteristic of field tour technique ?

perience t0 the

(A) It provides real ex
ding

learners and helps in understan
the learning material
(B) Ittakes more intuition in Jearning
situations ~

des relief from the rote

(C) Itprovi
provides

learning method and
realistic experience

It develops children’s complex

(D) It
emotions

Which is not a factor for creating

138.
environmental problem ?

(A) Forestfire
(B) Rapid population growth

(C) Utilisation of natural resources

(D) Heavy use of vehicles

(51)
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139.

140.

141.

142,

AaR%e AR 699 HEF 4l JAIRER |

2a% J9IIQ 2QEAITE 9a° AZRR ARG
Qgel AN SRR 26T ?

(A) 6@ (B) «uadaq
(C) 6QqFaR (D) 6q0Q
QI2IQ 6RISA 43680 GRIAN 7

o

(A) gl (B) fIesciedn
(C) RN (D) ‘qud

ABIQ 99" LQANEISR UK AN IS
6R68 eRA I ea ?

(A) 8ae be S
(B) @R6eR g
(C) e ARG bl
(D)" a1gaId N : ¥
79 Aug 60T GI96R AR ARl
QLRI QIGY?
(A) augeed
(B) 64l

(C) a1gg6ad
(D) eo@

143. TATA Q QILY @&?

(A) 22 G2 FI4

(B) 491062 o9 91eiq pH Ha74
(C) €1°A604N1 AEFIPRQ FARE

(D) 9I99R I6Q e8I Fa)

140.

141.

142,

143.

SET - (B)

139. The mineral essential for absorption

and maintaining balance of body
fluids is

(B) Calcium

(D) Chlorine

(A) lron
(C) Sodium

Which is called as the power house of
cell ? -

(A) Cellwall  (B) Mitochondria

(C) Ribosomes (D) Nucleus

What is the major source of water

for rice cultivation in Punjab and
Haryana ?

(A) Rainfall
(B) Irrigation

(C) Availability of labour
(D) Humid soil

Which state among the following is the
largest producer of chilli in India ?

(A) Madhya Pradesh

(B) Odisha

(C) Andhra Pradesh

(D) Kerala

What is the function of phosphorus ?

(A) Development of bones and teeth
(B) Regulations of pH of body fluids
(C) Regulation of muscle contraction

(D) Role in transmission of nerve
impulses

OTET/P-1
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144. qumﬁaqw\'l@ TAYAGR MLLIQ 9Q°
ARG AR @Sl 2QER?

(A) Q1A ¥
(B) @eIfig @
(C) @I @
(D) @@ ‘6«

) D 9

145. AR6QE JLAAQ QIQAY Q'&?

(A) 96 RUEU
(B) <CQEE Qa6 AR KR!
(C) 9RERIQ AAINTY ogal
(D) CQEIEY QBRI 6 A" AR 69
@<l
146. 6996 Farieee 964 g6 gL
Q8 QoQl 7162 9@ 92l 26C’?

(A) ang agelg 9@ 6aIelRC

(B), dmueg 94 eIl
) Gaigeeed G6RAGAS!
(D) amig seae QIge &8 6Q4ID,

galalg, 65/mSIT 6@al

&q glafie oadig aoR g6

SET -

14 ich i
4. Which is necessary for the utilisation
and retention of calcium and

phosphorus ?
(A) Vitamin ‘A’
(B) Vitamin ‘C’
(C) Vitamin ‘D’
(D) Vitamin ‘K

145. What is the purposé of environmental

studies ?
(A) Knowing the environment

(B) Improvement of environment
(C) Identifying elements of the

environment
(D) To understand and try to conserve

the environment

The way to develop children’s
est in the environment is
children

146.
inter

(A) Providing books for the
to read

(B) Asking que
(C) Taking the children for outing
(D) Let the children s€é, touch and

play with many real things

stions to children

Arrange the following First Aid sequence

in a correct manner.
1. Restore Breathing

147.

147.

emdl |

1. Giagal g8 Qiae

, gaw @9 99 o @aa! 2. Stop Severe Bleeding

5. 21GER oiQIoa oadl @aQl 3. Treat Shock

4. 908 AAC coal Aol aie Qieal @aC! 4. Call advanced medical help

5 immediately

@ 2431 ©® 1,2,34 (A 2,431 (B) 1,234

C) 4,32 1 (D) 42 1,3 (C) 4,321 D) 4,2,1,3
OTET/P-l (53) PR—
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148. GCRYe 9R8g AUQ 6QLTER ARG
QI ?
(A) U6YIQ
(B) QQ
(C) Qe
(D) &

149. ¢ 09 AR IRT REY §B Ll QUL
CRIEA QINAG CRARYMI?

(A) I TN 9L° AN YIS

(B) QR IFRIQ TR IS° 99 26 Ba)

(C) a1 IR 9e° AL9Q 28 Sa

(D) QR IFRIA TRR 9L° UG Yo

150. 20 AMe gl QI8 QIgr 986 6o
QUSRI 91 2CRARR 2GR CARYRI?

(A) YRUTS 2U6RIPS
(B) 2926719 26qIRa
(C) 2R 2aIRy 2icaipe

(D) QIR BIP 2IcRIP

148.

149.

150.

SET - (B)

Which of the following acquatic animal
does not have gills ?

(A) Octopus
(B) Squid
(C) Shark

(D) Whale

The famous Lucknow pact of 1916 was
signed between

(A) Mahatma Gandhi and Aga Khan

(B) BalGangadharTilakand Muhammad
Ali Jinnah

(C) Mahatma Gandhi and Muhammad
Ali Jinnah

(D) Bal Gangadhar Tilak and
Aga Khan

Which Indian mass movement

began with the famous ‘Dandj March’
of Mahatma Gandhij ?

(A) Khilafat Movement
(B) Non Co-operation Movement

(C) Civil Disobedience Movement

(D) Quit India Movement

OTET/P-1
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